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Mechanical/Automobile
(1) Question No. 1 is compulsory.
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(4) Figures to the right indicate full marks

(2) Answer any three from the
(3) Assumptions made if any should be

N.B.

[TURN OVER]

1.3 per kg

41800 kJ/kg
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3. a) Draw the schematic layout of a Hydro Electric Pﬁng; a;;d"e]j@egs .\., -
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function of each component and operation of glan[iv & ; ’““_’“- Lie
b) Discuss Rankine cycle with the help of sahe;h;twﬁwsj%ﬁﬂﬂs

Write the expressions for efficiency, wor]g ti , Bedt b

.-rk.

4. a) The data for monthly flow for a Hydel,p : $ 5
below. ‘.,;‘F_K}_;:»_ ey .:i-f"f E:

Month | 1
Flow in 6
m?/sec

e it ]2 ﬁgﬂi@%% and 1s condensed 1
) k a.xﬁfﬁ  moistiire content of the steam at
ot fl@bpercent Determine pressure
’i;g‘mperamre 600 °C and thermal
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&exﬁ@fnﬁ gfa Liquid Metal Sodium Graphite 10 —
;i::;gg xﬁ ‘advantages and disadvantages.
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’tﬁ%ﬁrﬁﬁnﬂ‘ ? Explain the Blockmeter rate, 10
‘hqﬁ@q rate of tariffs.
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“" r and Dust Collection System. 10
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